CHEM105 Unannounced quiz 2
You must show all formulas and all work to receive any credit

Major league pitchers are capable of throwing pitches with velocities up to 100 miles per hour.  Calculate the height a baseball will reach with this initial velocity in a vertical direction by answering each of these problems:
1. First convert the velocity of 100.0 miles per hour to units of meters per second 

[1 mile=1,760 yards; 1 inch=2.54 cm].

2. Then calculate the initial kinetic energy, in kilojoules, for the thrown baseball that has a mass of 142.4 grams (according to the 1998 Rules of Baseball, balls must weigh not less than five ounces nor more than 5.25 ounces).

3. Assuming that the initial velocity of 100 miles per hour is in a completely vertical direction (straight up), calculate the maximum height above ground that the baseball will reach before beginning its fall back to earth.  Clearly explain the rationale for your approach to determining this.  Also comment on whether your calculated answer appears to be reasonable.

